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All questions in both sections are compulsory.
Marks for questions are indicated against each question.

Question No. 1- 5 and 16 - 20 are very short answer questions carrying 1 mark each.
They are required to be answered in one sentence.

Question No. 6 - 8 and 21 - 23 are short answer questions carrying 3 marks each.
Answers to them should not normally exceed 60 words each.

Question No. 9 - 11 and 24 - 26 are also short answer questions carrying 4 marks
each. Answers to them should not normally exceed 70 words each.

Question No. 12 - 15 and 27 - 30 are long answer questions carrying 6 marks each.
Answers to them should not normally exceed 100 words each.

Answers should be brief and to the point and the above word limit be adhered to as
far as possible.
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SECTION - A

1. 3 Fa 9 AN A T, q1 A IRad! ard AR HA9d o ara | Fndey 1
BT ?

What is the relation between Average Variable Cost and Average Total Cost, if
Total Fixed Cost is zero ?

2. U WY Ueh o i foha1 off AN <) 7o hiAd W 9 Gohell § | FH 1 Hgiq get 1
(M) :
(&I foehey Q) -
(a) Ta o 9 2fies gt
(b) THd TEId 9w g

© THd grfia & 99 g

@) I e

A firm is able to sell any quantity of a good at a given price. The firm’s marginal
revenue will be :

(Choose the correct alternative) :

(a) Greater than Average Revenue
(b) Less than Average Revenue

(¢ Equal to Average Revenue

(d) Zero

3. ‘WY ufada’ &e ST e ? 1

When does ‘change in demand’ take place ?
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Tt Seame soent T oo €
(3! faesheg Q) -

(a) HAA THITHHID FIqATTAT i
(b) HAA TCUMESHR i

(© UhIemer Ffadifitar 3R sTeufier S &t
d) THIYDRR Hi

Differentiated products is a characteristic of :

(Choose the correct alternative) :

(a) Monopolistic competition only

(b) Oligopoly only
(¢) Both monopolistic competition and oligopoly

(d) Monopoly

79 IR § Tk HH 61 17T 95 Ui QR el § ¢
(G2 fasheq gf0) -

() ot wfcfraT

(b) THIHHR

(c) TeRTeRTIER faTiTal
d) STUHHR

Demand curve of a firm is perfectly elastic under :
(Choose the correct alternative)

(a) Perfect competition

(b) Monopoly

() Monopolistic competition

(d) Oligopoly



6. Ueh SUNISKI Sheael &1 T3 X R Y 1 SUT w1 € | X SR Y I Wi Sefiar 3
HUT: 3 3R 481 X 3R Y SHI 1 H10d % 4 I THE | 1 ST HeH H 7 ?
UK T AT Gfafshan =1 M 7 R0 AT |

A consumer consumes only two goods X and Y. Marginal utilities of X and Y are
3 and 4 respectively. Prices of X and Y are ¥ 4 per unit each. Is consumer in
equilibrium ? What will be further reaction of the consumer ? Give reasons.

7. IR &I HWA H 10 G Jfg 1 TR AT TR R IS ERN AE WA K KT A 3
(a)'?Fi{, (b) _1, (C) _2ﬁ|

What will be the effect of 10 percent rise in price of a good on its demand if price
elasticity of demand is (a) Zero, (b) — 1, (c) — 2.

8. TIAqH SHIFd HH ¥ AT ATYIE T 27 $Hh IROTH FHSAET | 3

AT

I IdHAM IR HIHd T HiAd § AHh T, T TR HRI TS ol FHEl hi
S FHEET |
What is minimum price ceiling ? Explain its implications.

OR

If the prevailing market price is above the equilibrium price, explain its chain
of effects.

9. H &I gy T SR AT Rl gHIfad e dTel heh SdeU | 4

Define demand. Name the factors affecting market demand.
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3TEd AT Sl IRYTT ST T IR0 AT SR Fard g¢ wusEl R
S-S 3T § gfg T ST © STEd 3TEe @R Sl SHaeR T Tl | 2

SREN

i IcqTg i TRYTH | e hael Teh 3§ gfg &1 5™ iR 31 ATl
ol fEeR @1 S 91 9iH9id 31 1 FaeR Fdist |

Define fixed cost. Give an example. Explain with reason the behaviour of
Average Fixed Cost as output is increased.

OR

Define marginal product. State the behaviour of marginal product when only
one input is increased and other inputs are held constant.

e Teh SIS 1 AT 2 12 U1 Sh1E 9 T T 9 Ui THhTE B Il 8, d ScdIeeh SIS
&1 gfd 75 Ffqed ¥ a1 8 1 gfd T HHd @ 900 RIS |

When price of a commodity falls from T 12 per unit to% 9 per unit, the producer
supplies 75 percent less output. Calculate price elasticity of supply.

T referael § g gued =i Ut et & 2 ¢ frges o searen faeen W
HET TS GHEET |

Why do central problems of an economy arise ? Explain the central problem of
“for whom to produce” ?

AT Fehi vl <A foRioaredi i ST hifsiu |

Explain three properties of indifference curves.



14. (a) T X T A HAT TRA 3R (b) T8 X W H A R 94 &1 Ifd doh T TS

15.
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AT GUTE GHSET | LT3l ohl TIT TSI |

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on

good X, on the supply curve. Use diagrams.

i@ adtenfelat o fom uoe e 14 o e )

(a) T X I T HFd A 3R (b) TFG X W H DI R IgH &1 Jid | F9E

TUSET | TfeTehl Sl TATT ShifwTT |

For blind candidates in lieu of Q. No 14.

Examine the effect of (a) fall in the own price of good X and (b) rise in tax rate on

good X on supply of a good. Use schedule.

Tk quf gfqarft seR § frefafeaa o aiomi o6t s=men s
() Tosharetl ot o<t §&m
(b) HAEY IS

AAAT
Teh TR SSR H efafEd o 9ROl sl samed shifsg
(a) TS WA ok JoU H TR

(b) HIA T A FD IS SR

Explain the implications of the following in a perfectly competitive market :

(a) Large number of sellers
(b) Homogeneous products.
OR
Explain the implications of the following in an oligopoly market :
(a) Barriers to entry of new firms

(b) Afew or a few big sellers
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SECTION - B

16. JdT® i gy s

Define flows.

17. Tr=fafEd =1 9 SR T &1 A0 UL 37 Hed © ¢

(Tt foeg i)
(a) IR

(b) eTffes &t
¢ fTram

@) Trar iR R-famdt M

National income is the sum of factor incomes accruing to :
(Choose the correct alternative)

(@) Nationals

(b) Economic territory

(¢) Residents

(d) Bothresidents and non-residents

18. TN sote § eiea qiftdl 9 o 319 © 2

What are revenue receipts in a government budget ?

19. TUTHF HE1 SHF T Bal ¢ ¢

CHREEICRCIELY
(a) BRI

(b) ST YA
OEEARHEISEUGIE

NN

) 9T IR A PTAE S

Primary deficit equals :

(Choose the correct alternative)

(a) Borrowings

(b) Interest payments

(¢) Borrowings less interest payments

(d) Borrowings and interest payments both

58/1 8



20. TAF Gqo ol § S faeel ol e o= oAl | yunfad e €, aw 1
FHEANW ¢ : (TR faehed o)

(a) e T
(b) TS o e
(© T&d e

d) TEESH TG AT

Foreign exchange transactions which are independent of other transactions in
the Balance of Payments Account are called :

(Choose the correct alternative)
(a) Current transactions

(b) Capital transactions

(¢) Autonomous transactions

(d) Accommodating transactions

21. I IRAfaH 3™ T 200 HUS 7 R HIAA YA 135 T, T Aifgeh 79 6T IRbed 3
RIS |

Assuming real income to be ¥ 200 crore and price index to be 135, calculate

nominal income.

22. HHY HIT Y 1 ATYYE 7 3T Tk a3 | 3
AT
TuEmEy o geT emyfd W e wm @ fbrd s 9w e S gk €

What is aggregate demand ? State its components.

OR

Explain how controlling money supply is helpful in reducing excess demand.
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Teh ool Hqo | €| HiHid UM Yo ol qReher whifey :
LR 3™ =1000
LA YU I = 200

a9 =3 = 100

An economy is in equilibrium. Calculate Marginal Propensity to Consume :
National income = 1000
Autonomous consumption expenditure = 200

Investment expenditure = 100

H2ra iR S5 R o fornt, fordoaan o2 oredi # FiaX a8 W 81 39 Tohdt =ka].
IS 3R FHEAT0T TR TS et FTal i SATEAT TSI |

Sale of petrol and diesel cars is rising particularly in big cities. Analyse its

impact on gross domestic product and welfare.

o o

a1 &1 fafma o1 mier’ S geemy ) see Oy fatme 9 gefya wwen @6
T Y R 2

SREN

o o

T o1 ARUATT YT &1 7' S GHesT | 361 a5 faftwa 9 gefya awen
T g FY foRan €2

Explain the ‘medium of exchange’ function of money. How has it solved the

related problem created by barter ?
OR

Explain the ‘standard of deferred payment’ function of money. How has it
solved the related problem created by barter ?

TR ‘Y R fHE YR /0 go & a0 § e 1 gehdt ¢

Explain how ‘Repo Rate’ can be helpful in controlling credit creation.

10



27. TEd o9 SR YSid =g § o S ¥ 7 TR W AR W o fhd gy 6
U H 3T & foawor &1 gunfad & § e 2 9ehd § |

SREN

Tl Y 3R YT FL H T SR & 2 THRAT o 3T ] gHIfad hid § ehr
TS hi VAT THEAET |

What is the difference between revenue expenditure and capital expenditure ?
Explain how taxes and government expenditure can be used to influence
distribution of income in the society.

OR

What is the difference between direct tax and indirect tax ? Explain the role of
government budget in influencing allocation of resources.

28. F9d g 9 ST Igh I HITSC 3T THT hid H foIu 71 o) =107 siqEe | Y@ifas 6

T YINT I |

Given saving curve, derive consumption curve and state the steps in doing so.
Use diagram.

gfted faenfelai & fog wo= de 28 & s w

YU HeTd GHSET | 3TN Herd 9 99d Theld 9T shifold |
For the Blind Candidates in lieu of Q. No. 28.

Explain consumption function. Derive saving function from consumption

function.

29. R Fawme facell § IuR <d €1 Frefafed g &1 S AT - 6
(@) YT Gged or@l & fhd Suerar IR fhd 181 T I8 YR T g2 HRY
IS
(b) Y IYR 1 IR fAHHT S W JHE THAET |

Indian investors lend abroad. Answer the following questions :

(a) Inwhich sub-account and on which side of the Balance of Payments Account
such lending is recorded ? Give reasons.

(b) Explain the impact of this lending on market exchange rate.
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'INR FHd W e T 3arg’ 3R TSl e [ wifse

G Ts SAfag a9 ==

(i) facen =1 fea =] saia
(iii) faeEl @l e wRE A=
(iv) @I Afaq U9 ==

(v) THordt syeaer ot

(vi) fraa i gsit fmfo

(vil) FThR GRT =Te] TETalol
(viii) 7 B

(ix) Trae smaa

(x) THR &I I A=

(xi) UL FI T AN

Find Gross National Product at Market Price and Private Income :

(1) Private final consumption expenditure
(1) Net current transfers to abroad

(111) Net factor income to abroad

(iv) Government final consumption expenditure
(v) Net indirect tax

(vi) Net domestic capital formation

(vi1) Current transfers from government
(vii1) Depreciation

(ix) Netimports

(x) Income accruing to government

(x1) National debt interest
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(FER )
800
20
(-) 10
300
150
200
40
100
30
90
50

X crores)
800
20
(=) 10
300
150
200
40
100
30
90
50
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